
���������
	���
�
�� ��������������� �!��"$#&%(')"$*,+.- /10�2�3�3546�

7 2
498�:;:<0�49=>:<8��<:;?�@ A63�8�=<=CB;0EDGFH8JILK�D���
�
��
M

N *O"GP QR%�# S�T1UV=<=<2�W�4X:<0�8�:ZY9[J\<YX]�\<YV^�\<YX_`8��a4`b�?c���
	):>?�=>�G3��5:d8eA68�f�492�=<����	9:<0
4`:>�a��Wg���
	9�G�<?�:>?�h
Ai?c3jMVY9[XkC�l3�3mW�8�f�4e:<0
4)n��a=>:XA62
:6Mpop�5q�4)8r=<Ai4J��8����5?skX0
46�<4tY9[VA62�:<=V8s�G�54JAi4t:<0�8�:p��=;u$�5	�	�46�
:<0G8���vxw,�zy{���|0G��=}46I�4J=�~Z8��Gb|4J��b�=;2��|kC�5:<0|354J=<=;:<0�8���vxw,��kC0�4J�|:<0
4p���<?�:>?�Ai?c3��l=Zb
?c�
4�M

N *O"GP QR%�#���T1� �5@R:>464J�|�G3�8�:>4J=C8��<41�G3�8�Ai4JbL46q�4J��35I�8��<?c2���b|8�A6���aA62�3�8��Z:<8�uG3�4�D
kC�5:<0L��8�W�41A68��ab�=Z@R?��
nG@�:>464J�.	c2�4J=>:<=6M�BC0
4�	c2
4J=>:<=�@{8���3}:>?���?�:<��Ai4L:<0
4LA68��abG=�2��(:<��3Z8�@�:>46�s:<0
46I���q�4H=<8�:gb�?xkC�EDd8�:
kX0���Aa0���?c���(:}:<0
46I|b���=<Ai?,q�46�;:<0�8�:C��?�?c�
41��=;���r:<0
4tAi?��<�<4JAi:C=>4J8�:6MZ��0
?,k�:<0�8�:;:<0
41:<8�u$3541A68��
u�4p�<?�:<8�:>4JbH=>?�:<0�8�:X8�:C354J8�=>:;:�k�?g?�@�:<0�41	c2
4J=>:<=;8��a49=<��W)2�35:<8��
46?c2G=<35IgAi?��<�a4JAi:<35I|=>4J8�:>4JbEM

N *O"GP QR%�#��ETto`��q�4J�s89f���8��$=<8�A<f�?�@�A68��G8�A6�5:�Is�&M�UV3�=>?t	c�5q�4J�s8��a4X�z�5:>4JW�=6D�kC�5:<0�kd4J�5	c0(:<=d�Z��8���b
�G�<?�n�:!�$��4J8�Aa0.yR@�?��`�5:>4JW���~�MV��0�?xk�0
?xk�b
I���8�W���Ap�G�<?�	��a8�W�W��l�
	�A68��zu�4t2�=>4JbL:>?rnG��b�:<0
4
Wg8O����W)2�W����<?�n�:`=<2
u$=>46:C?�@���:>4JW�=V:<0�8�:`n�:V�l�L:<0
4ef���8��G=<8�Aaf&yR:>?�:<8�3�kd4J�5	c0�:V?�@�:<0G��=X=a2
uG=>46:
=a0
?c2�3�b|�
?�:Z4i�
Ai464Jbz��~�M

N *O"GP QR%�# �mT1¡V=>4L:<0
4HW�46:<0
?�b¢b
4J=<Ai�a��u�4Jb.�l�.A63�8�=<=�:>?�?�u�:<8����£8��¢?���:<��W�8�3;8�3l�5	c��W�4J�(:�@�?��s:<0
4
=<:>�a���
	c=VY`¤1Y;¥C¥�8���bzYVY;¥;¥tM`��0
?,k�:<0
4t4J�(:<�5�<4t:<8�uG354�DE�
?�:�¦>2G=>:C:<0
4)nG��8�3�=>?c3�2
:<��?c�EMCUV3�=>?
=a0
?xk§0
?xk¨:>?sb
46�a�5q�4p:<0
49?���:<��W�8�3E8�3���	c��W�4J�(:�©�ª>«�¬­:<0
41:<8�u$354p4J��:>���54J=6M

N *O"GP QR%�#�®�Tt��0�?xk¯8�°X2
±�W�8��²:>�a464�4J��Ai?�b����
	r@�?��p:<0�4�@�?c3�3�?xkC����	s4i�
8�W��G354�MeB;0
4e@R�<4J³�2
4J��AiI�?�@

:<0�41@�?c3l35?xkC�l�
	�3546:>:>46�a=;8��<4�´

µ5¶J·¸·�¶ ª ©�ª ¶<¹Jº�¶6»$¼6½
8 
�M�v6

u 
�M�vJ�
A 
�M�vJ¾
b 
�M�vJ¿
4 
�MÀ¿�¾
@ 
�MÁ
�Â
	 
�MÁ
cÃ

Ä @mkd4V0G8Jq�4p89�$�54JAi4C?�@m:>4i��:}?�@�v6
�
�DÁ
�
�
�A�0�8��a8�Ai:>46�a=}kC��:<0�:<0���=�@R�<4J³(2�4J��AiI�b���=>:>���5uG2
:<�5?c�mD�kC0�8�:
�l=Z:<0
41��2�W9u�46�Z?�@ uG�5:<=}�a4J³(2����<4Jb�:>?gAi?cW����a4J=<=Z:<0���=}�$�54JAi4p?�@ :>4i��:6M


